Вариант №2
1. Среди данных чисел:  7;   6;   7,9;   -4;  0;  -6,7;   0,25;  - 6;    [image: image2.png]


  выбрать: 

а) противоположные числа;

б) наибольшее число;
в) наименьшее число. 

2. Вычислите: а)  |-0,009|+|-0,11|;    б) (-5,62)+(-2,008);    в)  |-7|: |0,14|;    г) -56+63;

д)   64+(-81);    е)  -65,2+(-9,2);        ж)  -0,102+0,02.
3. Решите уравнение: а) –х=80;  б) –х= - 25;  в) |x|=43;  г) |x|=-10; д) |x+5|=9.
Вариант №1
1. Среди данных чисел:  5;   -0,2;   0,3;   8;  0; -0,55;   0,125;  -5;    [image: image4.png]


  выбрать: 

а) противоположные числа;

б) наибольшее число;
в)  наименьшее число.
2. Вычислите: а)  |-0,08|+|-0,102|;   б) (-4,95)+(-2,005);    в)  |-9|: |0,05|;     г)  89+(-23); 

д)  -76+44;       е)  -56,1+(-8,8);        ж)   0,076+(-0,8). 
3. Решите уравнение: а) –х=71;  б)  –х=  - 34;  в) |x|=65;    г) |x|= -11;    д) |x+2|=7.

